
Implement barrel homogeneous EMCal

Nathaly Santiesteban 

Justin Frantz

Special thanks to:

Jin Huang 
 Friederike Bock 
 



Current :

An array of readouts on a cylindrical volume.

40 layers: Active + Absorver  

1 Layer for electronics

There is no projectivity module-by-module


What do we have?

Macro: 



Implementing :

An array of readouts on a cylindrical volume.

A single PbWO layer of 20 cm with the same structure -> the original version. 

Working on … 



Generating: 


Simple Sample 
Electrons at 5 GeV

Eta Range (-0.2,0.2)

All other detectors and magnet are of



Note: The energy measured is not  5 GeV

Probable cause: Calibration and digitalization



Note: There are not measured hits collected by the single cristal bcal.

Probable cause: Calibration and digitalization (?)

Example from the current CEMC.


